These are all the addition facts children need to be recall quickly by the end of Year 2. Although your child is in Year 4,
practising these on a regular basis will help support your child to embed these facts into their long term memory and
support their recall skills.

Adding one Doubles Adding two Bonds to 10 Adding 10 Adding D MNear doubles | No family Bridging 10
facts

1+1 242 3+2 1+__ =10 10+2 1+0 3+4 5+3 3+9
5+1 3+3 B+2 5+ =10 10+4 5+0 5+4 b+3 3+8
3+1 4+4 TJ+2 6+ =10 10+9 240 443 346 a4+7
T+1 5+5 5+2 3+ =10 10+7 4+0 4+5 3+5 4+8
2+1 b+b 4+2 2+ =10 10+6 6+0 5+b 4+9
9+1 7+7 2+3 8+__ =10 10+5 8+0 B+5 5+7
4+1 8+8 2+6 10+ =10 10+3 7+0 7+8 5+8
b+1 9+9 2+4 9+ =10 10+8 3+0 B+7 5+9
1+2 10+10 247 0+ =10 10+1 8+0 9+8 6+8
1+5 5+2 4+ =10 9+10 0+8 8+9 6+9
1+8 7+ =10 3+10 0+3 7+4
1+3 8+10 0+1 T+5
1+6 4+10 0+2 7+9
1+7 5+10 0+5 8+3
1+4 2+10 0+4 B+d
1+10 0+9 8+5
6+10 0+7 8+6
7+10 0+6 9+4
9+5
9+6
9+7
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Alongside the above facts, children also need to be able I I
g _ , e +/ 0 1 2|3 4 5|6 7 8 9 10
to solve these calculations with automaticity by the end
of Year 2. They must also be able to solve the 0|o-0 ”"_0 < U'3_“'4 it D‘EL”’? u*a.u*g e
corresponding subtraction calculations. Children should 1140 | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 1410
continue to practise these in Year 4 to secure and 2| 2:0! 2411242 | 2+3|2+8! 245|248 247 | 248 | 249 | 2410
maintain fluency. 1 1 i 1 1 '
3|3+0|3+1|3+2|3+3 |3+4|3+5|3+6|3+7 |3+8|3+9|3+10
4|4+40 | 441|442 443 |4+4 | 445|446 | 447 | 448 | 449 | 4410
Children also need to be able fluently recall their times [ | i I [ '
_ 5|5+0| 541|542 |5+3  5+4|54+5|5+6 | 5+7 | 5+8 | 5+98 | 5+10
tables by the end of Year 4. Pupils must also have 1 1 ! 1 ! ]
automatic recall of the corresponding division facts. The 6|6-+0 0+1]0+210+310+4|0+3 E'E_E’Tqﬁ'ﬂ_ﬁ'g el
36 most important facts are highlighted in the table. T|7+0 | 741742 | 743 | 744|745 |7+6 | 747 |7+8|7+9 | 7+10
Fluency in these facts should be prioritised because, 8|80 8:1 8+2 |8+3 B+d | 845 846 847 848 8+9 | 8410 |
when coupled with an understanding of commutativit > 1 [ 1 [ [ [ '
p. ) & y 9|9+0|9+1 942|943 |9+4 945|946 |9+7 | 9+8|9+9|9+10
and fluency in the formal written method for ] ! ! | | | |
multiplication, they enable pupils to multiply any pair of 10{10+0 10'1_1[“2 1““3_1{]'4"(}'5 1n+s‘m.?‘1n+al1n¢9 m-ml
numbers.
[EX 1%2 1%3 1x4 1%5 1%6 17 1%8 1%9 1%10 1% 11 1x12
2x1 2x2 2x3 2x4 2x5 2x6 2x7 2x8 2x9 2x10 2x11 2x12
31 Ix2 3x3 Ix4 3x5 3x6 Ix7 3x8 3x9 3 =10 3= 11 3x12
4%1 4x%2 4x%3 4x4 4%5 4%6 4x7 4%8 4%9 4% 10 4x11 4%12
5=1 5x2 5x3 S5x4 5x=5 5=6 5=7 5=8 5=8 S5=10 S5=11 5=12
6x 1 6x2 6x3 6 x4 6x5 6x6 6x7 6x8 6x9 6 * 10 6 x 11 6x12
71 7x2 7x3 7x4 7x5 7%6 7x7 7x8 7x9 7x10 7x11 712
8 x 1 8x2 8x3 8x4 8x5 8x6 8x7 8x8 8x9 8x 10 8x 11 8x12
9 x 1 9x2 9x3 9x4 x5 9x6 9x7 9x8 9x9 9= 10 9= 11 9x12
10 x 1 10 x 2 10 % 3 10 % 4 10 x5 10 % 6 107 10 x 8 10 %9 10%x10 | 10=11 | 10x12
1% 1 11x2 11x3 11 x4 11x5 11x6 11 x7 11x8 11x9 11x10 | 11 x 11 11 % 12
12 %1 12 =2 12=3 12 % 4 12x%5 12=6 127 12x%8 12=9 12 =10 12 = 11 12 12




